0000000000 quantum-effect-thermal-qal11220.tex

OLrodboooboobuooboobobbooombobbooboobboob OO

P\
En:<2mL2>n , (n=1,2,--) (1)
O0000000000oDooo.A00000000A=A/27000000000000
googoboobodboboobuoobbooboobboobboobooboboon
gudooooobobbboboooooo

. 000o00b0oboo0oobooogooob kgroobboboobobbooooL
oboboboobooboobd

2. 0000000000 kg =138x10"2)J/KOO0O0O00O0O0000 T =273+15(K)
OO000kT0O0OD0eVOOOOOOODOOOODeVOODOODOO 1eV = 1.60 x
10-°J0000

3. 000000000000000000000000000 LOoOoOoOooooo
O00D0DADDODOO0OOOO0OO0OmMAD A=10"""0000ch = 1977eV -
A m2>05x10%vVO000

4. 00000000000000000000 10001000 (D0O0O0)0000
ooof

(Ooo)

1.

2_2
Ey,—FE, > kgT — <2mL2> x 3 > kgT
3m2h?
L 2
TSN 2k T 2
2.
\% 1
kT = 1.38 x 10735 x 288K——
B O S T S T
— 0.0248¢V. (3)
3.
L < 68.2A. (4)

L < 216A. (5)




